
PARTS CATALOGUE  



SlotPro Profiles

sales@slotpro.nz | www.slotpro.nz | 0800 00 28 32

•	Standard bar  
   length is 5800 mm.
•	Autoline offer a  
   complete cutting 
   & milling service.
• Order full lengths  
  or cut to size.

2 SERIES

3 SERIES

4 SERIES

3 SERIES

10 Slot Profile 20x80
2 Series
Code: 1.0208.10.SPRS

20 x 20 SlotPro
4 Slot Standard Profile

20 x 80 SlotPro
10 Slot Standard Profile

20 x 40 SlotPro
6 Slot Standard Profile

20 x 60 SlotPro
8 Slot Standard Profile

20 x 30 SlotPro
1 Slot Standard Profile

30 x 30 SlotPro
4 Slot Standard Profile

30 x 90 SlotPro
8 Slot Standard Profile

20 x 30 SlotPro
2 Slot Standard Profile

30 x 60 SlotPro
6 Slot Standard Profile

40 x 40 SlotPro
4 Slot Standard Profile

40 x 60 SlotPro
4 Slot Standard Profile

40 x 120 SlotPro
8 Slot Standard Profile

40 x 80 SlotPro
6 Slot Standard Profile

30 x 120 SlotPro
10 Slot Standard Profile

80 x 80 SlotPro
8 Slot Standard Profile

80 x 120 SlotPro
10 Slot Standard Profile

120 x 120 SlotPro
12 Slot Standard Profile

80 x 160 SlotPro
12 Slot Standard Profile

40 x 160 SlotPro
10 Slot Standard Profile

Code: 1.0204.6.SPRSCode: 1.0202.4.SPSS Code: 1.0208.10.SPRSCode: 1.0206.8.SPRS Code: 1.0203.1.SPRS

Code: 1.0303.4.SPSS Code: 1.0309.8.SPRSCode: 1.0203.2.SPRS Code: 1.0306.6.SPRS

Code: 1.0406.4.SPRS Code: 1.0412.8.SPRS

Code: 1.0312.10.SPRS

Code: 1.0404.4.SPSS Code: 1.0408.6.SPRS

Code:1.0812.10.SPRS Code: 1.1212.12.SPSSCode:1.0808.8.SPSS

Code: 1.0416.10.SPRS

Code: 1.0816.12.SPRS



Connection using 
2.03.SPUC, 2.03.SPSP, 2.03.SPSC

Connection using 
2.03.SPOP, 2.04.SPOP

Connection using 
2.03.SPMP, 2.04.SPMP

Connection using 
2.03.SPMP, 2.04.SPMP

EXAMPLE CONFIGURATIONS

Connectors

sales@slotpro.nz | www.slotpro.nz | 0800 00 28 32

Code: 2.04.SPUC

4 Series 
Universal Connector

Code: BHM6012

2 Series 
Connector 

Code: 2.02.IBA

2 Series 
90° Mill Free Connector

Code: 2.03.SPUC

3 Series 
Universal Connector

Code: 2.03.SPSP

3 Series 
Standard Connector

Code: 2.03.SPSC

3 Series  
90° Standard Connector 

Code: 2.03.SPOP

3 Series 
Oblique Connector

Code: 2.03.SPMP

3 Series  
Mitre Connector

Code: 2.03.IBA

3 Series  
90° Mill Free Connector

4 Series 
Standard Connector

Code: 2.04.SPSP

Code: 2.04.SPSCCode: 2.04.SPOP

4 Series
90° Standard Connector 

4 Series 
Oblique Connector

4 Series 
Mitre Connector

Code: 2.04.SPMP Code: 2.04.IBA

4 Series 
90° Mill Free Connector

2 SERIES 3 SERIES

3 SERIES 4 SERIES

4 SERIES

For more information 
on our wide range of products



Slot Nuts, T Nuts & Plates

sales@slotpro.nz | www.slotpro.nz | 0800 00 28 32

Code: 3.03.R.SP5

Code: 3.04.R.SP6

Code: 3.03.T.SP6 Code: 3.04.T.SP8

Code: 3.03.R.SP8

Code: 3.02.T.SP4

Code: 3.03.P.SP6

Code: 3.03.R.SP6

Code: 3.04.R.SP8

Code: 3.03.P.SP5

Code: 3.04.R.SP4

Code: 3.02.T.SP5

Code: 3.04.P.SP4

Code: 3.03.R.SP4

Code: 3.04.R.SP5

Code: 3.03.T.SP5 Code: 3.04.T.SP6

3 Series 
Roll in Slot Nut M4

4 Series 
Roll in Slot Nut M5

3 Series 
Threaded T Nut M5

4 Series 
Threaded T Nut M6

3 Series 
Roll in Slot Nut M5

4 Series 
Roll in Slot Nut M6

3 Series 
Threaded T Nut M6

4 Series 
Threaded T Nut M8

3 Series 
Roll in Slot Nut M8

2 Series 
Threaded T Nut M4

3 Series 
Threaded Plate M6

3 Series 
Roll in Slot Nut M6

4 Series 
Roll in Slot Nut M8

3 Series
Threaded Plate M5

4 Series 
Roll in Slot Nut M4

2 Series 
Threaded T Nut M5

4 Series
Threaded Plate M4

Code: 3.04.P.SP6

Code: 3.04.HRB.M6

Code: 3.04.P.SP8

Code: 3.04.HRB.M8

Code: 3.04.P.SP5

4 Series 
Threaded Plate M5

4 Series 
Threaded Plate M6

4 Series Hole Reducer 
Bolt M12 - M6

4 Series
Threaded Plate M8

4 Series Hole Reducer 
Bolt M14 - M8

2,  3  & 4  SERIES



Hinges & Handles

sales@slotpro.nz | www.slotpro.nz | 0800 00 28 32

Cover Caps

Code: 4.03.SPSLH

Code: 4.04.WH

Code: 4.04.SPSLH

Code: 4.03.WH Code: 4.04.WHP

Code: 4.04.SPMHC

Code: 4.02.SPSLH

Code: 4.02.WHCC

2 Series 
Slotted Hinge

4 Series 
Wing Hinge Cover Cap

2 Series Wing Hinge 
Aluminium

3 Series 
Slotted Hinge

4 Series Wing Hinge 
Aluminium

4 Series 
Slotted Hinge

3 Series Wing Hinge 
Aluminium

4 Series 
Magnetic Catch

4 Series 
Wing Hinge SS Pin

4 Series Machine 
Handle Cover Caps

Code: 4.04.SPMC

Code: 4.02.WH

Code: 4.04.SPBC

Code: 5.03.SP30Code: 5.02.SP60

2 Series Cover Cap 
20 x 20

2 Series Cover Cap 
20 x 40

3 Series Cover Cap 
30 x 30

2 Series Cover Cap 
20 x 60

3 Series Cover Cap 
30 x 60

Code: 5.02.SP20 Code: 5.02.SP40 Code: 5.03.SP60

 fits all series  fits all series

Code: 4.04.SPBH Code: 4.04.SPMHCode: 4.04.SPFH

4 Series
Ball Catch

4 Series 
Handle 152mm

4 Series Machine 
Handle 135mm

4 Series 
Front Handle 121mm

Code: 5.04.SP60 Code: 5.08.SP80Code: 5.04.SP80

4 Series Cover Cap 
40 x 40

4 Series Cover Cap 
40 x 60

8 Series Cover Cap 
80 x 80

4 Series Cover Cap 
40 x 80

Code: 5.04.SP40

Code: 4.04.SPSLHL

4 Series Slotted Hinge 
with Locking Lever

For more information 
on our wide range of products



sales@slotpro.nz | www.slotpro.nz | 0800 00 28 32

Code: 6.04.SPTBP4080

4 Series 
Transport and Base 
Plate 40 x 80

4 Series 
Transport and Base 
Plate 80 x 80

3 Series 
Transport and Base 
Plate 30 x 30

3 Series 
Transport and Base 
Plate 30 x 60

4 Series 
Transport and Base 
Plate 40 x 40

Code: 6.04.SPAF80 Code: 6.04.SPAF100

Adjustable Foot Base 
with Anti-Slip Plate
80mm 

Adjustable Foot Base 
with Anti-Slip Plate
100mm 

Feet & Base Plates 

Cover Profiles

Code: 6.04.SPTBP8080Code: 6.03.SPTBP3030 Code: 6.03.SPTBP3060 Code: 6.04.SPTBP4040

Code: 5.03.SPCP Code: 1.0404.0.SPCPCode: 5.04.SPSCP

Code: 1.0612.2.SPCP

4 Series Cover Profile 
PVC, Silver 10mm

4 Series Conduit Profile 
60 x 120

3 Series Combination 
Profile 2 - 4mm

4 Series Conduit Profile 
40 x 40

4 Series Combination 
Profile 4 - 6mm

4 Series Conduit Profile 
40 x 80

Code: 5.04.SPCP

Code:1.0408.2.SPCP

Code: 5.03.SPSCP

3 Series Cover Profile 
PVC, Silver 8mm

Code: 1G.2020.FPG

1Guard 200 x 200 
Foot Plate Powder 
Coated Grey 

other colour options available

Code: 1G.1520.FPG

1Guard 150 x 200 
Foot Plate Powder 
Coated Grey 

other colour options available

Code: 1G.1515.FPG

1Guard 150 x 150 
Foot Plate Powder 
Coated Grey

other colour options available



4 Series Angle Bracket 
for 80mm Extrusion - 
Die Cast Zinc

Code: 6.08.SPB80

Angle Brackets

sales@slotpro.nz | www.slotpro.nz | 0800 00 28 32

Code: 6.03.SPB30Code: 6.02.SPB20

4 Series Angle Bracket  
for 40mm Extrusion -
Die Cast Zinc

4 Series Angle Bracket 
for 80mm Extrusion - 
Die Cast Zinc

3 Series Angle Bracket 
for 30mm Extrusion - 
Die Cast Zinc

2 Series Angle Bracket 
for 20mm Extrusion - 
Die Cast Zinc

4 Series Angle Bracket 
for 40mm Extrusion - 
Die Cast Zinc

Code: 6.04.SPB40 Code: 6.04.SPB48 Code: 6.08.SPB80

Accessories
4 Series 
Uniblock

3 Series 
Quick Uniblock 22

4 Series 
Quick Uniblock 22

Code: 6.04.SPEH Code: 6.03.SPQB22 Code: 6.04.SPQB22

Code: 6.03.SPPG Code: 6.04.SPPG

3 Series 
Extrusion Glide 8mm

4 Series 
Extrusion Glide 10mm

4 Series 
40mm Pivot Joint

4 Series 
Floor Mount Bracket

Code: 4.04.SPSJ Code: 6.04.FMB40

4 Series 
Tool Hanger

2 Series 
Tool Hanger

3 Series 
Tool Hanger

Code: 6.02.SPTH

Code: 6.03.SPTH Code: 6.04.SPTH Code: 6.04.UCBB Code: 6.04.SPCB 

4 Series Universal 
Cable Binding Block

4 Series Cross Cable 
Binding Block

3 Series 
Quick Uniblock

4 Series 
Quick Uniblock

Code: 6.03.SPUB Code: 6.04.SPUB

For more information 
on our wide range of products



0800 00 28 32 | sales@slotpro.nz | www.slotpro.nz


